rededot’ S

10.6" 3.9" BOX DEPTH —————— ——
5.9" W/ STAND-OFF

MOUNTING FEET

@dodkelt’ T~  SEALING WASHER

@\ o ! 6.2" I
| /4" DIAMETER [ STAND-OFF

<::> PADLOCK HASP

—— /4 TURN =0T o

E— \ STAINLESS LATCH
316 STAINLESS STEEL (14GA)

s

MOUNTING BOLT

MULTIPLE CONDUIT
PENETRATION AREAS
(TOP, BOTTOM & LEFT SIDE)

SLOPED SURFACES

NOTES:
) MATERTAL:
BODY, COVER & ASSY PARTS: 316 STANILESS STEEL
GASKET: SILICONE
2) FINISH:
BODY, COVER & ASSY PARTS: MIRROR FINISH
3) CONDUIT FITTING SIZE RANGE: /2" - I" INTEGRAL CONDUIT BODY (37.3 CU-IN)
4) UL LISTED (4X & EXTRA DUTY) ;
5) NSF LISTED GROUNDING STUD (#10-32 X 1/2" LONG)
6) MOUNTING KIT (316 STAINLESS UNLESS NOTED) DEVICE MOUNTING PLATE (30A MAX)
4) FEET (4X WALL MOUNTING / OFFSET PENETRATION)

(
(4) STAND-OFFS FOR 1/4" BOLT (1" OD X 2" LG)

(4) SEALING WASHERS FOR 1/4" BOLT (1" OD, SILICONE BACKED)

(8) BOLTS (1/4-20 x 2-5/8" OVERALL LENGTH, 1" THREADED LENGTH)

www. tnb.com

REVISIONS GENERAL NOTES PESCRIPTION: SSE ThomaséBetts
ﬂSEE ERN ( #x%% ) |, ALL DIMENSIONS ARE FOR STAINLESS STEEL WIU A Member of the ABB Group
ROk EAROVAL S IGNATURES s O Y ckeTs [ 1] ORIGINAL PROJECT NO / (ERN NO) | SHEET No: | REV. No: [ DRAWING No:
PROJECT NO: xxsx ARE TN METRIC UNTTS. 0020000312 / ( 2016759 ) 10F 1 0 WSD-001525

THIS DRAWING IS INTENDED FOR DESCRIPTIVE PURPOSES ONLY. AND THE RIGHT IS RESERVED TO DEVIATE FROM ANY OF THE DETAILS SHOWN HEREON.
COPYRIGHT ABB GROUP. ALL RIGHTS RESERVED. PROPRIETARY AND CONFIDENTIAL.




